H & 0l & AHS B Ml A

20243 =0lloh LB Al 2t AR A

S Al RIRIANY A
Hu: MBI S

el MBS _'?'_5 =Y (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
A& 2| AFS A 6,957,658 6,437,681 519,977
| 90,190
Albl 257,051
sl 5,760,417
MEHE 4 2,460,220 1,959,120 501,100
J| 797,641
AlBI 257,051
-4l 1,405,528
MEHls B2 - |4 2,460,220 1,959,120 501,100
| 797,641
Albl 257,051
4| 1,405,528
28t MBS A X 122,112 119,188 2,924
| 61,056
Altl 30,528
=t 30,528
307 212+01™ 122,112 119,188 2,924
| 61,056
Altl 30,528
sl 30,528
02 QIZHBAAIHE R 122,112 119,188 2,924
Oger MEXSX A BHXI
122,112,000& 122,112
| 61,056
Altl 30,528
sl 30,528
24l MEHSFX S HiX 91,584 59,54 31,990
| 45,792
Altl 22,89%
sl 22,89%
307 212+01™ 91,584 59,54 31,990
J| 45,792
Al 22,8%
-4l 22,8%
02 QIZHAAAIEER 91,584 59,594 31,990
OZ24l MEXSXIEZA Ui X
91,584,000 91,584
J| 45,792
AlHI 22,8%
-4l 22,89%
Aot . HEAMEHSXCAH NS B8 1,120 0 1,120
| 560
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
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307 gl2tol & 1,120 0 1,120
Il 560
AlHI 280
Tl 280
02 2IZHBYAIHE X 1,120 0 1,120
oggr - H2d HEHMSNZA NS 2
L= 1,120,000& 1,120
Jl 560
AlHI 280
Tl 280
et oS24 HERSAEN HHA 34,320 23,760 10,560
AltI 14,280
-l 20,040
307 @120l & 34,320 23,760 10,560
Altl 14,280
Tl 20,040
02 LB HANHEE 34,320 23,760 10,560
Odit- 24l dEMSEA MM 34,320
Sl 140,000 x7 &+ 123 11,760
AlHI 5,880
Tl 5,880
wWSH| 200,000 «7H* 122 16,800
AltI 8,400
-l 8,400
23| 5,760
-394 Olat 30,0002 x38 * 12 1,080
-44 0|4 62 0|2t
60,0008 x2& * 122 1,440
-10=01a 122 Olet
120,000 x1&* 122 1,440
-13 0l&f 150,000 x1&* 122 1,800
- H=F=l X 80,000 80,000 0
AlHI 30,000
Tl 50,000
307 el2to| & 80,000 80,000 0
AltI 30,000
-l 50,000
03 PIAHHEE 22X 80,000 80,000 0
O= M=2l 2&4l X2 80,000,000 80,000
Altl 30,000
Tl 50,000
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-4l 11,667
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Ooeglol Mswa 24 3,000,000& 3,000
Altl 1,500
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XE 30,0002 *8&*2JH» 128 5,760
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-=adcldH § 3323
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ol dEHSE 25 - |4 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 7,000 ~47 329
H= HAsgdl 100,000 <4 400
HEAM=Ha ot A& 3,832 3,832 0
307 @I2t0| & 3,832 3,832
02 QB AANEER 3,832 3,832
O0ZaH=U2l &It 3,832
- d RUS(A9) 45,0002 x66E 2,970
= 7,000 ~669 462
e b=l 100,000 <4 400
HSAF 2l & X 20,000 20,000 0
307 @120l & 20,000 20,000
04 QIZHHAMAIH 2 £ 20,000 20,000
O7& &t S22 M=ial A
20,000,000 20,000
H=AIE RX 2= 320,030 426,965 106,935
201 er2 3| 20,030 62,430 242,400
01 At2tlt] 5,000 45,000 40,000
OBIERAR - UFUAT ST 22I2E
-8 5,000,000& 5,000
02 S3=gHl 15,030 17,430 A2,400
ON&Z HSAE &II2
100,000 «12& 1,200
OO HSAIE ®IIB
11,0002~ 12& 132
O E gEZ=Z3 2t 6,966
&= 400,0002 12& 4,800
ootz 350,000& +6 2,100
M QEl AIES 5,500 * 122 66
Odtet===Xl otaa 2l 3,066
&= 100,000& * 12 1,200
xel palest=d 200,000 62 1,200
stk FAH| 600,000& 600
otaldl QE AIE S 5,500&*12& 66
Ol ZtH==Al 2 3,666
&= 200,000& * 128 2,400
ootz 200,000& +62 1,200
Ml QEl AIEE 5,500 * 122 66
401 Al HIZL 201 300,000 350,000 /50,000
01 Al&H| 300,000 350,000 50,000
OSUIMEAIE FA2+
300,000,000 300,000
CitH2277812 124 F SUIMISAIE Z2H(F2F 0104 15,000 15,000
401 AIEHIX R0 15,000 15,000
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01 Al&HI 15,000 0 15,000
Ootttz2rretd 124 5l SUMSAIE =4
15,000,000& 15,000
CICHEXI 7 SUIMISAIE S20HE & 23017 FBI(F 50,000 0 50,000
QIE 010l 4H)
401 Al HIZ R OHHI 50,000 50,000
01 AlZ28| 50,000 50,000
OCHSTI 7 SUITISAIE 282008 2 25
I+ EH 50,000,000 50,000
=g s 16,000 16,000
307 lztol & 16,000 16,000
02 2B YA HE L 16,000 16,000
OM=sds gsX& 16,000,000 16,000
s Sd(UEHFAE) 908,456 767,847 140,609
7l 142,549
Tl 765,907
HENS 25 - SE(UEHSAIE) 455,000 450,000 5,000
NEAAZOHAAERME 2 440,000 435,000 5,000
201 er2 3| 140,000 135,000 5,000
01 At2teltl 140,000 135,000 5,000
OMSMH ZOjQl AZXHE HEHA 2
g 140,000,000 140,000
307 gl2to| & 300,000 300,000
05 2I2t9IEr2 300,000 300,000
OMBAE HOjQIAZXHE SSX 2
300,000,000 300,000
ANEAZXZSY 2EXE 15,000 15,000 0
307 212+01& 15,000 15,000
05 2ItRIE = 15,000 15,000
OAEZ2E 22X X2
15,000,000& 15,000
HFAIE 2] 453,45 317,847 135,609
) 142,549
Tl 310,907
=0IMZ100AtY =& 203,641 200,000 3,641
Il 142,549
Tl 61,092
307 @I2t01 & 203,641 200,000 3,641
7l 142,549
Tl 61,092
05 2ItRIE = 203,641 200,000 3.641
O=2IHM=100 SHE 2|
203,641,000 203,641
Jl 142,549
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201 et 3| 17,280 14,880 2,400
01 At22t2l] 6,000 6,000 0
OUUNE MSAE 22IE3
500,000 * 122 6,000
2 s5=4g4l 11,280 8,880 2,400
OUHZE MSAE 3323 11,280
- MI|= 900,000& * 128 10,800
- Yol E 80,000& +6E 480
401 AIEHIZ SR 0HYI 110,000 40,000 70,000
01 Al&H| 110,000 40,000 70,000
OUHE MSAE |X =
40,000,000 40,000
OUtdlE= 2& &2 ZHISAH
70,000,000 70,000
Y 1383 2l 122,535 62,967 59,568
101 21AH| 68,395 62,967 5,428
04 JIZtN2Z2XNS 2= 68,39% 62,967 5,428
OZHEAZSH MII=2F 2e| 68,3%
kal:] 88,272 x4 B 28U +6E 59,319
-RUASEERYES
59,319,000& 4. 5% 2,670
RoHyEEELD
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- SAEUE 300,000 *4H 1,200
201 er23| 11,800 11,800
01 At2tltl 10,000 10,000
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HLES S 2c=3 0
10,000,000 10,000
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Pl 100,000& «12& 1,200
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401 Al HIY S CHYI 40,000 40,000
01 A28l 40,000 40,000
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- TOEA S @02l
15,000,000 * 14 15,000
H=E4 1,800,000 52 9,000
- A SE2l Hl S
16,000,000 * 14! 16,000
405 AHAHE S 2,340 2,340
01 AL =S F = 2,340 2,340
O&IZI| <0 1,170,000 <2CH 2,340
S=s&2c 689,766 501,389 98,377
S=Z MSAE 22l 689,766 591,389 98,377
S=L dIAJHE 2 222,952 152,075 70,877
101 eI24d| 102,592 33,374 69,218
M JItHZZ2RSE 102,592 33,374 69,218
OS=E AdE 2al 102,592
- @l 2| 88,2723 «6H 2826 88,979
ELEEEEEIE
88,979,000& *4. 5% 4,005
20AYBERLS
88,979,000 +3.545% 3,185
- IEEERE=S 88,979,000 *1.75% 1,558
- MHEERES 88,979,000& * 1% 890
SR QYEFERES
3,155,000 %12.81% 405
JEH02 300,000 +6 1,800
SN 300,000 «64 1,800
201 Ler23| 17,140 16,960 180
01 At2teltl 14,140 13,960 180
OS=t dFNFWH I 23
100,000& * 122 1,200
OS=k dEN2HH 2283
450,000 123 5,400
OMSAIE AME UEM HH
400,000 400
OS=k dFNYNH GH=E
60,0002 %119 7,140
02 S3=gHl 3,000 3,000 0
OS=sk dEXJEE &=
250,000 * 122 3,000
301 LEIE NS 103,220 101,741 1,479
0 AR=R22as 103,220 101,741 1,479
Os=k dI3N24H ARI=SRe3 103,220
== 1,000,000 x7&* 12 84,000
- SA 7,000« 7H*22x 12 12,936
wEH| 3,400 x7& 22« 123 6,284
=k MSAE |A € 2= 466,814 439,314 27,500
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OS%E 57F =X AI8E
70,000,000& 70,000
OS=E ¥EE HSAL ZY
6,500,000& 6,500
2 35244l 58,064 41,564 16,500
OHSAE & - 54E2
300,000 «62 1,800
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TEANOIA, H2E gFa) &I2
1,500,000& 122 18,000
Ootae D AIBR
5,500 12E 404 A& 264
OS=sk dEHE A4 22 RS
1,500,000 1,500
OstEd 2xxel =2
300, 00024 50H 4 1,500
O25E 4B AL SAEs
35,000,000& 35,000
203 gF=4| 1,350 1,350
03 A=A 2= 1,350 1,350
OMSAIE 2l - 28 AF =8
1,500,000 *90% 1,350
307 elztol & 9,900 9,900
05 129l 9,900 9,900
OR4FHRIAE Bl Asas2
825,000 * 12 9,900
401 Al HIZ S 0HbI 321,000 300,000 21,000
01 AlZ8| 321,000 300,000 21,000
OSsk =7& 22X EXNH = 2HAT
2) 321,000,000 321,000
ofef 2 &5 2,062,639 2,313,070 A260,431
f==g 2 2,052,639 2,313,070 A260,431
M= 29 447,458 410,865 36,593
201 fer= 3| 7,500 7,500 0
01 At 2|l 7,500 7,500 0
OCtEoll ==& HEA 1,800,000& 1,800
Odi==& &2t g22f=g
60,0003 4 x202 4,800
Odll==& HWEI12t HASALAF 2HAiH|
3,000 x0&»20 540
OIS BSES
200,000 x22 *90% 360
203 g4l 450 450
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307 S1ZH0| & 439,508 402,915 36,593
05 OIZt2|E 2 439,508 402,915 36,593
OBNRX 2 HE B 89
439,508,000& 439,508
= AMEZE2 AX & 22 1,187,568 1,601,995 N414,427
101 214b| 1,039,351 1,023,411 15,940
4 J1tNI22XsES 1,039,351 1,023,411 15,940
Odl==22& &2t 146,357
A5 AL 88,2722 #6321 % 5,562
- HADR Y BNIE S
88,2723 *55 U x 14H 67,970
- DIZb= AR IR CH 88,2723 *55 2« 15H 72,825
Otll=Z2& A2 &L otNz22| 395,736
H-2E AES 22
88,2723 x12Hx30 L x6& 190,668
ST OEAD A S
88,2723 x12Yx30 L x6 8 190,668
- HEANZ 300,000 *x24H 7,200
- SXEQE 300,000 *x24H 7,200
OdllHEZJA NS Y sHEY| 131,912
- Q12| 88,2723 *8H +x30 L x5 127,112
- HEANZ 300,000 x8H 2,400
- 2XEoIE 300,000 x8H 2,400
OOFZHF 2 AIZ2HTH orE 22| 265,378
- OF2F AR 96,835 *8H*30 L 6 139,515
- OF2t BX 80,738 *8H+x30 LU x5 116,263
HEAMNHZ 300,000& x16H 4,800
SEXEOE 300,000& * 164 4,800
O=0AZBEHESZ
894,643,000 *4. 5% 40,259
(@ME=1k=0-1= 894,643,000 *1.75% 15,657
OMEEgEE= 894 ,643,000& * 1% 8,947
O=R0AHUBEHESZ
894,643,000 *3.495% 31,268
O QLABSEREZ
31,268,000 *12.27% 3,837
201 LE2AH| 34,980 34,980
01 AFR2teldl 27,660 27,660
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= 100, 0002 *20H*90% 1,800
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Odflgisa2e|dl dE =2
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02 324l 240,590 228,590 12,000
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)| 8,000,000 ~8& 64,000
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01 Al&HI 15,000 15,000
OdfdlZz=2els B 15,000,000 15,000
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101 @124H| 34,199 0 34,199
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OS=oliot et 38Hl S 30,860
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SXZIE 300,000 2 600
O=2A=2g=3 29,660,000 *4. 5% 1,335
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